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Emphatic Reflexive Pronouns

Practice 1
Instructions. Based on the lesson about emphatic reflexives, fill in the blanks using the emphatic

reflexive pronoun.

Example: Jack will finish the project.
Answer: Jack himself will finish the project.

When you are done, see “Answer Key" to check your answers.

1. — Who will help us?
=1 will be here to help everyone.

2. — Who is planning the party?

— We are planning everything

3. The children want to choose a birthday present for their

grandmother.

4. — Who is going to visit our office next week?

— The company'’s president is coming.
5. No one in my office likes the new manager. | think he’s great.
6. | will check the report to make sure everything is correct.
7. Did the students complete the work ?

8. — Are you sure Ann is in the office?

— Yes, | saw her arrive five minutes ago.
9. ldon'tlike Mary’s idea. Mary understands that her idea has many
problems.
10. Jane’s parents want her to be a doctor. Jane wants to be a teacher.
11. Ulrich’s family is from Germany. Ulrich is originally from Frankfurt.
12. This problem is very complicated. The solution will take several
steps.
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Answer Key

1. | myself will be here to help everyone.

2. We are planning everything ourselves.

3. The children themselves want to choose a birthday present for their grandmother.

4. The company’s president himself is coming.

The company’s president herself is coming.

5. No one in my office likes the new manager. | myself think he’s great.
6. | will check the report myself to make sure everything is correct.

7. Did the students finish their work themselves?

8. Yes, | myself saw her arrive five minutes ago.

9. Idon't like Mary's idea. Mary herself understands that her idea has many problems.

10. Jane’s parents want her to be a doctor. Jane herself wants to be a teacher.
11. Ulrich's family is from Germany. Ulrich himself is originally from Frankfurt.

12. This problem is very complicated. The solution jtself will take several steps.
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